
1/9Beware of Negative Marking

NURTURE : IIT - JEESAMPLE QUESTIONS FOR ENTRANCE TEST

1. The least distance of distinct vision for a young
adult with normal vision is about :-
(1) 25 m (2) 2.5 cm (3) 2.5 m (4) 25 cm

2. The commercial unit of electrical energy is :-
(1) Joule (2) Watt
(3) Watt hour (4) Kilowatt hour

3. An electric bulb is rated 220 V and 100 W.
When it is operated on 110 V, the power
consumed will be :-
(1) 100 W (2) 25 W (3) 75 W (4) 50 W

4. An object weighs 60 N when measured on the
surface of the earth. What would be its weight
when measured on the surface of the moon ?
(1) 60 N (2) 10 N (3) 30 N (4) Zero

5. A man with a box on his head is climbing up a
ladder. The work done by the man on the box is :-
(1) Positive (2) Negative
(3) Zero (4) Undefined

6. An ammeter  is  always connected in .....  and a
voltmeter in ...... The suitable words, in order,
for the blanks are :-
(1) Series; series
(2) Parallel ; parallel
(3) Parallel ; series
(4) Series ; parallel

7. An ice cube is floating in a glass of water. What
happens to the water level when the ice melts?
(1) Rises
(2) Falls
(3) Remains same
(4)  First  rises  and  then  falls

8. Which of the following produces more severe
burns ?
(1) hot air (2) sun rays
(3) boiling water (4) steam

9. A fan produces a feeling of comfort during hot
weather because :-
(1) fan supplies cold air
(2) our perspiration evaporates rapidly
(3) our body radiates more heat in air
(4) conductivity of air increases

10. The echo will be heard if the original sound
reflected by an obstacle reaches our ears after:-
(1) 10 s (2)  5  s (3)  1  s (4) 0.1 s

1. lkekU; n`f"V okys ,d o;Ld O;fDr ds fy;s Li"V n`f"V
dh U;wure nwjh yxHkx gS :-
(1) 25 m (2) 2.5 cm (3) 2.5 m (4) 25 cm

2. fo|qr ÅtkZ dh O;olkf;d bdkbZ gS :-
(1) twy (2) okWV
(3) okWV&?k.Vk (4) fdyksokWV ?k.Vk

3. ,d fo|qr cYc ij 220 V rFkk 100 W vafdr gSA tc
bls 110 V ij lapkfyr fd;k tkrk gS rks O;f;r 'kfDr
gksxh :-
(1) 100 W (2) 25 W (3) 75 W (4) 50 W

4. i`Foh dh lrg ij ,d oLrq dk Hkkj 60 N ekik tkrk
gSA pUæek dh lrg ij bldk Hkkj fdruk ekik
tk;sxk ?
(1) 60 N (2) 10 N (3) 30 N (4) 'kwU;

5. ,d vkneh ,d cDls dks vius flj ij j[kdj lh<+h ij p<+rk
gSA vkneh }kjk cDls ij fd;k x;k dk;Z gksxk %&
(1) /kukRed (2) ½.kkRed
(3) 'kwU; (4) vifjHkkf"kr

6. fdlh vehVj dks lnSo ..... esa rFkk oksYVehVj dks ...... esa
tksM+rs gSaA fjä LFkkuksa ds fy;s mi;qä 'kCn gksxsa %&

(1) Js.khØe ; Js.khØe

(2) lekUrj Øe ; lekUrjØe

(3) lekUrj Øe ; Js.khØe

(4) Js.khØe ; lekUrj Øe
7. ,d cQZ dk VqdM+k ikuh ls Hkjs gq, fxykl esa rSj jgk gSA tc

cQZ fi?kyrh gS rks ikuh ds Lrj ij D;k izHkko iM+sxk :-
(1) c<+sxk
(2) ?kVsxk
(3) leku jgsxk
(4) igys c<+sxk fQj ?kVsxk

8. fuEu esa ls fdlls lcls vf/kd tysxk ?

(1) xeZ gok (2) lw;Z dh fdj.ksa

(3) mcyk gqvk ikuh (4) Hkki

9. xeZ ekSle es sa  ,d ia[kk vkjke dk vuqHko djkrk gS]
D;ksafd :-
(1) ia[kk B.Mh gok izokfgr djrk gSA
(2) gekjk ilhuk rsth ls ok"ihÏr gksrk gSA
(3) gekjk 'kjhj gok esa vf/kd Å"ek fofdfjr djrk gSA
(4) gok dh pkydrk c<+ tkrh gSA

10. izfr/ofu lqukbZ nsxh ;fn ewy /ofu fdlh vojks/k ls Vdjkdj
gekjs dkuksa rd fdrus le; ckn igqaps :-
(1) 10 s (2)  5  s (3)  1  s (4) 0.1 s

NOTE : Out of the four options in each question
only one option is correct.

NOTE % izR;sd iz'u es a fn;s x;s pkj fodYiks a es a
l s dsoy ,d gh lgh fodYi gSA
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11. Figure (a), (b) and (c) respectively, indicate the
point of focus in case of :-

(a) (b)

(c)
(1) the normal eye, the hypermetropic eye and

myopic eye
(2) the hypermetropic eye, the myopic eye and

the normal eye
(3) the normal eye, the myopic eye and the

hypermetropic eye
(4) the myopic eye, the normal eye and the

hypermetropic eye
12. How will  the  image  formed            

by a convex lens be affected
if the central portion of the
lens is wrapped in black
paper ?
(1) no image is formed by the remaining

portion of the lens
(2) the central portion of the image will be

absent
(3) there will be no effect
(4) the full image will be formed but it will be

less bright
13. The momentum of a body increases by 10%.

The increase in the kinetic energy will be :-
(1) 10% (2) 20% (3) 21% (4) 19%

14.
I =10A1

I =6A2

I3

BA

C

D

The current I3 will be :-
(1) 8A (2) 4A (3)  16  A (4) 6A

15. Sound  waves  in  air  are  :-
(1) Transverse
(2) Longitudinal
(3) Neither transverse nor longitudinal
(4) Longitudinal at crest and transverse at

troughs

11. fuEu esa ls fdl fLFkfr ds fy, Øe'k% fp= (a), (b) rFkk
(c), Qksdl fcUnq dks izn£'kr djrs gSa :-

(a) (b)

(c)
(1) lkekU; vk¡[k] nwj n`f"V nks"k ;qDr vk¡[k rFkk fudV n`f"V

nks"k ;qDr vk¡[k
(2) nwj n`f"V nks"k ;qDr vk¡[k, fudV n`f"V nks"k ;qDr vk¡[k

rFkk lkekU; vk¡[k
(3) lkekU; vk¡[k, fudV n`f"V nks"k ;qDr vk¡[k rFkk nwj n`f"V

nks"k ;qDr vk¡[k
(4) fudV n`f"V nks"k ;qDr vk¡[k, lkekU; vk¡[k rFkk nwj n`f"V

nks"k ;qDr vk¡[k
12. ;fn ,d mÙky ySal ds e/; Hkkx        

dks dkys dkxt }kjk yisV fn;k tk;s

rks bl ySal }kjk cuk;s x;s izfrfcEc

ij D;k izHkko iM+sxk \

(1) ySal ds 'ks"k Hkkx }kjk dksbZ izfrfcEc ugha cusxk

(2) izfrfcEc dk e/; Hkkx vuqifLFkr gksxk

(3) dksbZ izHkko ugha iM+sxk

(4) iwjk izfrfcEc cusxk fdUrq bldh rhozrk de gksxh

13. fdlh fi.M ds laosx esa 10% dh òfð djus ij mldh xfrt
ÅtkZ esa o`fð gksxh :-
(1) 10% (2) 20% (3) 21% (4) 19%

14.
I =10A1

I =6A2

I3

BA

C

D

iznf'kZr ifjiFk esa /kkjk I3 dk eku gksxk :-
(1) 8A (2) 4A (3)  16  A (4) 6A

15. ok;q esa /ofu rjaxksa dh izÏfr gksrh gS :-
(1) vuqizLFk

(2) vuqnS/;Z

(3) u rks vuqizLFk u gh vuqnS/;Z

(4) J`ax ij vuqnS/;Z rFkk xrZ ij vuqizLFk
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16. The speed of sound at moon is :-

(1)  330  ms–1 (2) 1330
ms

6
-

(3) 330 × 6 ms–1 (4) Zero
17. The time period of a geo-stationary satellite is:-

(1) 24 hrs (2) 365
1
4

 days

(3) 1 hr (4) None of these
18. The temperature common to celsius as well as

fahrenheit scale is :-
(1) –60° (2) –35°
(3) –40° (4) None of these

19. The valence of nitrogen in N2O5 is :-
(1)  +  3 (2) – 3 (3)  +  5 (4) – 5

20. An endothermic reaction is one in which :-
(1) Heat is converted into electricity
(2) Heat is absorbed
(3) Heat is evolved
(4) Heat is converted into mechanical work

21. In which case no hydrogen bonding is possible ?
(1) HCl (2) NH3

(3) HF (4)  H2O
22. Temporary hardness may be removed from

water by adding :-
(1) Ca(OH)2 (2) CaCO3

(3) CaSO4 (4) HCl
23. The percentage of hydrogen in water is :-

(1) 33.33% H (2) 30% H
(3) 18.88% H (4) 11.11% H

24. Which of the following is used to extinguish
electrical fires ?
(1) Water
(2) Soda-acid fire extinguisher
(3) Foam type fire extinguisher
(4) Carbon tetrachloride fire extinguisher

25. Which of the following element is not used for
coating the surface of iron, to prevent rusting:-
(1) Tin (2) Chromium
(3) Platinum (4) Nickel

26. The neutron is an uncharged particle of mass.
(1) 1 g (2) 1 µg
(3) 1 mg (4)  1  amu

27. Purest form of iron is :-
(1) Cast iron (2) Wrought iron
(3) Steel (4) None

16. pUæek ij /ofu dh pky gksrh gS :-

(1) 330 ms–1 (2) 1330
ms

6
-

(3) 330 × 6 ms–1 (4) 'kwU;
17. Hkw&fLFkj mixzg dk vkorZdky gksrk gS :-

(1) 24 ?k.Vs (2) 365
1
4

 fnu

(3) 1 ?k.Vs (4) buesa ls dksbZ ugha
18. fuEu esa dkSulk rkieku lsfYl;l rFkk QkWgjsUgkbV esa mHk;fu"B

gksxk :-
(1) –60° (2) –35°
(3) –40° (4) buesa ls dksbZ ugha

19. N2O5 esa ukbVªkstu dh la;kstdrk gksrh gS :-
(1)  +  3 (2) – 3 (3)  +  5 (4) – 5

20. Å"ek'kks"kh vfHkfØ;k esa :-
(1) Å"ek] fo|qr /kkjk esa ifjofrZr gksrh gS
(2) Å"ek vo'kksf"kr gksrh gS
(3) Å"ek xzg.k dh tkrh gS
(4) Å"ek] ;kaf=d dk;Z esa ifjofrZr gksrh gS

21. fuEu esa ls dkSuls ;kSfxd esa gkbMªkstu ca/k laHko ugha gS ?
(1) HCl (2) NH3

(3) HF (4)  H2O
22. ty ls vLFkk;h dBksjrk gVkus ds fy;s ty esa D;k feykuk

gksxk :-
(1) Ca(OH)2 (2) CaCO3

(3) CaSO4 (4) HCl
23. ty esa gkbMªkstu dh izfr'krrk gksrh gS :-

(1) 33.33% H (2) 30% H
(3) 18.88% H (4) 11.11% H

24. fo|qr ds dkj.k mRiUu vkx dks cq>kus ds fy;s fuEu esa ls
fdldk mi;ksx fd;k tkrk gS ?
(1) ty
(2) lksMk&vEy vfXu foyksid
(3) >kx okys vfXu foyksid
(4) dkcZu VsVªk DyksjkbM okys vfXu foyksid

25. tax dks jksdus ds fy;s yksgs dh lrg ij fuEu esa ls fdl rRo
dk ysiu ugha fd;k tkrk :-
(1) fVu (2) Øksfe;e
(3) IysfVue (4) fudy

26. vkos'k jfgr d.k U;wVªkWu dk æO;eku gS :-
(1) 1 g (2) 1 µg
(3) 1 mg (4)  1  amu

27. vk;ju dk 'kq¼re :i gS :-
(1) <yok¡ yksgk (2) fiVok¡ yksgk
(3) bLikr (4) dksbZ ugha



NURTURE : IIT - JEESAMPLE QUESTIONS FOR ENTRANCE TEST

4/9 ½.kkRed vadu ls lko/kku

28. The electronic configuration of an element
having atomic number 17 is :-
(1) 1s2, 2s22p6, 3s23p6

(2) 1s2, 2s22p6, 3s23p4, 4s1

(3) 1s2, 2s22p6, 3s23p5

(4) 1s2, 2s22p6, 3s23p2,4s24p1

29. Which of the following  contains larger amount
of  atom ?
(1) 3.5 g CO2 (2) 3.5 g NaCl
(3) 3.5 g N2 (4) 3.5 g O2

30. In the reaction : N2(g) + 3H2(g)������ 2NH3(g)
the value of the equilibrium constant depends on:-
(1) Volume of the reaction
(2) Total pressure of the system
(3) The initial concentration of N2 &  H2

(4) The temperature
31. Which of the following molecules contains a

double bond :-
(1)  N2 (2)  C2H4 (3) PH3 (4) CCl4

32. The chemical substance present in lime water
is :-
(1) Calcium chloride (2) Calcium oxide
(3) Calcium hydroxide (4) Calcium nitrate

33. Which organic compound is used for the
artificial ripening of fruits :-
(1) Ethene (2) Ethane
(3) Propane (4) All of the above

34. From amongst following metals which metal is
poorest conductor of electricity :-
(1) Pb (2) Ag (3) Hg (4) Al

35. The pH value of pure water can be increased by:-
(1) Adding an acid
(2) Removing some water
(3) Adding a base
(4) None of the above

36. If =13.69 x , then

+ +1369 0.1369 0.001369  is  equal  to  -

(1) 10.01 x (2) 10.101 x
(3) 10.11 x (4) 11.10 x

37. A two digit positive number is such that the
product of two digits is 24. When 45 is added
to the number, then the digits interchange their
places. Number is -
(1) 46 (2) 38
(3) 24 (4) none of these

28. ijek.kq Øekad 17 okys rRo dk bysDVªkfud foU;kl
gS :-
(1) 1s2, 2s22p6, 3s23p6

(2) 1s2, 2s22p6, 3s23p4, 4s1

(3) 1s2, 2s22p6, 3s23p5

(4) 1s2, 2s22p6, 3s23p2,4s24p1

29. fuEu esa ls fdlesa vf/kd la[;k esa ijek.kq gksxas ?

(1) 3.5 g CO2 (2) 3.5 g NaCl

(3) 3.5 g N2 (4) 3.5 g O2

30. vfHkfØ;k : N2(g) + 3H2(g)������ 2NH3(g) esa lkE;
fu;rkad dk eku fuHkZj djrk gS :-
(1) vfHkfØ;k ds vk;ru ij
(2) rU= ds dqy nkc ij
(3) N2 o H2 dh izkjfEHkd lkUærk ij
(4) rki ij

31. fuEu esa ls fdl v.kq esa f}cU/k gksxk %&
(1)  N2 (2)  C2H4

(3) PH3 (4) CCl4

32. pwus ds ikuh esa dkSulk jklk;fud inkFkZ mifLFkr gksrk
gS :-
(1) dSfY'k;e DyksjkbM (2) dSfY'k;e vkWDlkbM
(3) dSfY'k;e gkbMªkWDlkbM (4) dSfY'k;e ukbVªsV

33. dkSulk dkcZfud ;kSfxd Ïf=e :i ls Qyks dks idkus ds
fy;s mi;ksx gksrk gS :-
(1) ,sFkhu (2) ,Fksu
(3) izksisu (4) mijksä lHkh

34. fuEufyf[kr /kkrqvksa esa dkSulh /kkrq fo|qr dh U;wure pkyd
gS :-
(1) Pb (2) Ag (3) Hg (4) Al

35. 'kq¼ ty dk pH eku c<+ tkrk gS %&
(1) vEy feykus ij
(2) dqN ty gVkus ij
(3) {kkj feykus ij
(4) mijksä dksbZ ugha

36. ;fn =13.69 x gks] rks

+ +1369 0.1369 0.001369  dk eku gksxk&

(1) 10.01 x (2) 10.101 x
(3) 10.11 x (4) 11.10 x

37. ,d nks vafd; /kukRed la[;k bl izdkj gS fd nks vadks dk

xq.kuQy 24 gSA ;fn la[;k esa 45 tksM+k tk, rks vad vius

LFkku ijLij cny ysrs gS] rc la[;k gksxh&

(1) 46 (2) 38

(3) 24 (4) buesa ls dksbZ ugha
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38. If hypotenuse of a right angled triangle is 17
cm & difference between the other two sides
is 7 cm, then perimeter of triangle is -
(1) 35 cm (2) 38 cm
(3) 40 cm (4) 43 cm

39. If xx+y =  y3  & yx+y =  x6y3,  where x & y are
natural numbers, then yx =
(1)  1 (2)  4 (3) 16 (4) 25

40. If sinx + cosx – =2 sin x 0 ,  then value of

tan2x  +  cot2x  is  -

(1)  8 (2)  6 (3)  1 (4) 
1
2

41. The sequence of numbers a1,  a2,  a3, ......... is

defined by a1 =  2  & +
+

= n
n 1

2a 1
a

2
 for every

positive integer n. The numerical value of a101
is  -
(1) 102 (2) 53 (3) 52 (4) 51

42. A picture 30 cm ×  20 cm is placed in a frame
with a border of uniform width. If area of the
border is equal to the area of the picture, then
width of border is -
(1) 3 cm (2) 5 cm
(3) 6 cm (4) 7 cm

43. Number of real roots of the equation

- - -
+ =

- -

22x 3 6x x 6
1

x 1 x 1
 is/are -

(1) zero (2) one
(3) two (4) more than two

44. Number of points on x-axis at a distance 5 units
from point (2, 4) is/are -
(1)  0 (2)  1
(3)  2 (4) more than two

45. Mean weight of a group of 10 boys is 28 kg
& that of another group of 'n' boys is 35 kg.
If combined mean weight of (10 + n) boys is
30 kg, then n is equal to -
(1)  4 (2)  3 (3)  2 (4)  5

46. In the given figure line AB is tangent to smaller
circle, then radius of smaller circle is -

(1) +2 1 1

1O

B

A
(2) -2 1

(3) 2

(4) +2 2

38. ;fn ledks.k f=Hkqt dk d.kZ 17 cm rFkk vU; nks Hkqtkvksa

dk vUrj 7 cm gS] rks f=Hkqt dk ifjeki gksxk&

(1) 35 cm (2) 38 cm

(3) 40 cm (4) 43 cm

39. ;fn xx+y = y3  rFkk yx+y = x6y3, tgk¡ x o y izkd`frd
la[;k,¡ gks] rks yx dk eku gksxk &
(1)  1 (2)  4 (3) 16 (4) 25

40. ;fn sinx + cosx – =2 sin x 0  gks] rks tan2x + cot2x

dk eku gksxk&

(1)  8 (2)  6 (3)  1 (4) 
1
2

41. la[;kvksa a1, a2, a3, ......... ds vuqØe dks a1 = 2 rFkk

+
+

= n
n 1

2a 1
a

2
 ls] n ds izR;sd /kukRed iw.kk±d ds fy,

ifjHkkf"kr djrs gSA a101 dk vkafdd eku gksxk&
(1) 102 (2) 53
(3) 52 (4) 51

42. ,d 30 lseh ×  20 lseh vkdkj dk QksVks ,d QksVksizsGe
(frame) esa yxk;k tkrk gS] ftlds fdukjks dh pkSM+kbZ leku
gSA ;fn fdukjks okys Hkkx dk {ks=Qy QksVks ds {ks=Qy ds
cjkcj gks rks fdukjks dh pkSM+kbZ gksxh&
(1) 3 cm (2) 5 cm (3) 6 cm (4) 7 cm

43. lehdj.k 
- - -

+ =
- -

22x 3 6x x 6
1

x 1 x 1
ds okLrfod ewyksa

dh la[;k gksxh&

(1) 'kwU; (2) ,d

(3) nks (4) nks ls vf/kd
44. x-v{k ij  fLFkr fcUnqvksa dh la[;k tks fcUnq (2,4) ls 5

bdkbZ nwjh ij fLFkr gks] gksxh&
(1)  0 (2)  1
(3)  2 (4) nks ls vf/kd

45. 10 yM+dks ds lewg dk ek/; Hkkj 28 kg rFkk 'n' yM+dks

ds vU; lewg dk ek/; Hkkj 35 kg gSA ;fn (10 + n) yM+dks

dk la;qDr ek/; Hkkj 30 kg gS rks n dk eku gksxk&

(1)  4 (2)  3 (3)  2 (4)  5

46. fn;s x;s fp= esa] js[kk AB NksVs o`Ùk dh Li'kZ js[kk gS] rks NksVs
o`Ùk dh f=T;k gksxh&

(1) +2 1
1

1O

B

A(2) -2 1

(3) 2

(4) +2 2
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47. Let = + - + - + - ¥y 5 5 5 5 5 5 ........... , then

nearest value of y2 –  y  is  -

(1)  1 (2) 5 (3)  4 (4) 2 5

48. In a class of 52 student, 25% are rich & others
are poor. There are 20 females in the class, of
whom 55% are poor. How many rich males are
there in the class ?
(1) 13 (2)  4 (3) 39 (4)  9

49. The sum 
1 1 1 1 1 1 1 1
2 6 12 20 30 42 56 72

+ + + + + + +

1 1 1
90 110 132

+ + +  is  equal  to  -

(1) 
11
12

(2) 
15
16

(3) 
9

12
(4) 

17
18

50. If Rahul walk at 4 km/h, Rahul miss the train
by 10 min. If Rahul walk at 5 km/h, Ralul reach
5 min. before the arrival of the train. How far
Rahul walk to reach the railway station -
(1) 5 km (2) 7.5 km (3) 30 km   (4) 330 km

51. Length of longest rod that can be placed in a
room 40  m ×   24m ×  18  m is  -

(1) 30 2m (2) 42 m

(3) 50 m (4) 60 m
52. Value of 253 –  93 – 163 is  -

(1) 19990 (2) 10000 (3) 12500  (4) 10800
53. Ten years ago, a father was four times as old

as his son. After 20 years, he will be twice as
old as his son. Sum of their present ages is -
(1) 55 years (2) 75 years
(3) 87 years (4) 95 years

54. Let mid points of side AB & AC of right angled
triangle ABC are M & N such  that AM = BM

= 1 cm & MN = 7 cm. If PN = AC, then length

PA is equal to -

P A M B

N

C

(1) 2 cm (2) 7  cm

(3) 4 cm (4) 3 7  cm

47. ;fn = + - + - + - ¥y 5 5 5 5 5 5 ........... gk s ] rk s

y2 – y dk fudVre eku gksxk&

(1)  1 (2) 5 (3)  4 (4) 2 5

48. 52 fo|kfFkZ;ksa dh d{kk esa 25% vehj rFkk 'ks"k xjhc gSA
d{kk esa 20 yM+fd;k¡ gS ftuesa ls 55% xjhc gSA d{kk esa
vehj yM+dks dh la[;k gksxh&
(1) 13 (2)  4
(3) 39 (4)  9

49.
1 1 1 1 1 1 1 1
2 6 12 20 30 42 56 72

+ + + + + + +

1 1 1
90 110 132

+ + +  dk ;ksxQy gksxk -

(1) 
11
12

(2) 
15
16

(3) 
9

12
(4) 

17
18

50. ;fn jkgqy 4 km/h dh xfr ls pyrk gS rks og Vªsu fudyus ds
10 min. ckn igq¡prk gSA ;fn jkgqy 5 km/h, dh xfr ls
pyrk gS] rks og Vªsu ds vkus ls 5 min. igys igq¡p t krk gSA
jkgqy dks jsyos LVs'ku igq¡pus ds fy, fdruk pyuk iM+rk gS&
(1) 5 km (2) 7.5 km (3) 30 km   (4) 330 km

51. 40 m ×  24m × 18 m ds dejs esa j[kh tk ldus okyh
vf/kdre yEckbZ dh NM+ gksxh&

(1) 30 2m (2) 42 m

(3) 50 m (4) 60 m
52. 253 –  93 – 163  dk eku gksxk&

(1) 19990 (2) 10000 (3) 12500   (4) 10800
53. nl lky igys firk dh vk;q vius iq= ls pkj xquk vf/kd

FkhA 20 lky ds ckn mldh vk;q vius iq= ls nksxquh gksxhA
mu nksuksa dh orZeku vk;q dk ;ksxQy gksxk &
(1) 55 o"kZ (2) 75 o"kZ
(3) 87 o"kZ (4) 95 o"kZ

54. ekuk ledks.k f=Hkqt ABC dh Hkqtkvksa AB rFkk AC ds eè;
fcUnq Øe'k% M rFkk N bl izdkj gS fd AM =  BM

= 1 cm rFkk MN = 7 cm gSA ;fn PN = AC gks] rks

PA dh yEckbZ gksxh&

P A M B

N

C

(1) 2 cm (2) 7  cm

(3) 4 cm (4) 3 7  cm
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55. Three identical coin are tossed.  The probability that

same outcome will appear on each of them is -

(1) 
1
8

(2) 
1
4

(3) 
1
2

(4) 
3
8

56. Three friends Mr. White, Mr. Black & Mr. Red
met in a cafeteria. "It is remarkable that one of
us has white hair, another one has black hair
& third one has red hair, though no one's name
gives the colour of their hair", said the black
haired person. "You are right", answered Mr.
White, then
(1) Mr. White's hair colour is black
(2) Mr. Red's  hair colour is black
(3) Mr. Black's hair colour is red
(4) Mr. Red's hair colour is red

57. If perimeter of a certain sector of a circle is
equal to half of the circle of which it is a part,
then circular measure of the angle of sector is-

(1) 
p
2

(2) p (3) p + 2 (4) p –  2

58. Last digit in 162010 –  22008 is-
(1)  0 (2)  2 (3)  4 (4)  6

59. If x = cosec2q &  y  =  sec2q, then-
(1)  x + y = 1 (2)  x  –  y  =  1
(3)  x  +  y  =  xy (4) x + y = 2xy

60. If x, y, z  are non-zero numbers such that

+ =
x x

3
y z

 & + =
y y

5
z x

, then value of x/y is-

(1) 
3
5

(2) 
2
3

(3)  1 (4) 
4
3

61. A printer numbers the pages of a book starting
with 1 and uses 2893 digits in all. How many
pages does the book have -
(1) 1000 (2) 1021 (3) 1074 (4) 1075

62. Three circles tangent to each other (see figure),
have their centres on the diameter AB of larger
circle. If AB = 6 cm, then sum of perimeters of
the three small circles is -

A B

(1) p cm (2) 4 p cm
(3)  6p cm (4) data insufficient

55. rhu le:i flDds mNkys tkrs gSA mu ij leku ifj.kke vkus
dh izkf;drk gksxh&

(1) 
1
8

(2) 
1
4

(3) 
1
2

(4) 
3
8

56. rhu nksLr fe- OgkbV (White)] fe- Cysd (Black) ,oa
fe- jsM (Red) fdlh LFkku ij feyrs gSaA dkys cky okys
O;fDr us dgk  ̂ ^ge rhuks esa ls ,d ds cky lQsn] nwljs ds
dkys rFkk rhljs ds yky gS ijUrq geesa ls fdlh dk Hkh uke
vius ckyksa ds jax ds vuq:i ugha gSA** fe- OgkbV dgrs gS
^^vki lgh gS**] rc &

(1) fe- OgkbV ds ckyksa dk jax dkyk gS

(2) fe- jsM ds ckyksa dk jax dkyk gSA

(3) fe- Cysd ds ckyksa dk jax yky gSA

(4) fe- jsM ds ckyksa dk jax yky gSA
57. ;fn ,d o`Ùk ds [k.M dk ifjeki ml o`Ùk ds vk/ks ifjeki

ds leku gS] ftldk og Hkkx gS] rks [k.M ds dks.k dk o`Ùkh;
eki gksxk&

(1) 
p
2

(2) p (3) p + 2 (4) p –  2

58. 162010 – 22008 dk vafre vad gksxk&
(1)  0 (2)  2 (3)  4 (4)  6

59. ;fn x = cosec2q rFkk y  =  sec2q gks] rks&
(1)  x + y = 1 (2)  x  –  y  =  1
(3)  x  +  y  =  xy (4) x + y = 2xy

60. ;fn x, y, z v'k w U; l a[;k; s a  bl i zdkj g S fd

+ =
x x

3
y z

 rFkk + =
y y

5
z x

 gS] rks x/y dk eku gksxk&

(1) 
3
5

(2) 
2
3

(3)  1 (4) 
4
3

61. ,d fizUVj fdrkc ds iUuksa (pages) ij la[;k 1 ls vad
Nkirk gS rFkk dqy 2893 vadksa dk iz;ksx djrk gSA fdrkc
esa dqy fdrus iUus gS  -
(1) 1000 (2) 1021 (3) 1074 (4) 1075

62. rhu òÙk tks ,d nwljs dks Li'kZ djrs gS (fp=kuqlkj) rFkk ftuds
dsUnz cM+s o`Ùk ds O;kl AB = 6 cm ij fLFkr gSA rhuksa NksVs
o`Ùkksa ds ifjekiks dk ;ksxQy gksxk &

A B

(1) p cm (2) 4 p cm

(3)  6p cm (4) vk¡dM+s vi;kZIr
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8/9 ½.kkRed vadu ls lko/kku

63. If =
a 2
b 3

 & =
b 4
c 5

, then 
+
+

a b
b c

 is  equal  to  -

(1) 20 : 27 (2) 27 : 20 (3) 13 : 20 (4) 3 : 4
64. Two friends take a piece of work for Rs. 960.

One alone could do it in 12 days, the other in
16 days. If with the assistance of an expert they
finish it in  4 days, then how much remunera-
tion the expert should get -
(1) Rs.700 (2) Rs.550 (3) Rs.400 (4) Rs.350

65. The sum of two number is x & their difference

is 
1
7

 of  their  sum. Their  HCF is  -

(1) 
+x 1
7

(2) 
x
7

(3) 
12x

7
(4) 

6x
7

66. In the given figure, AB is
parallel to CD & DEF is
an equilateral triangle,
then measure of angle
y is-
(1) 30° (2) 45°

A

O

B
x

x+20°

y C D
E

F(3) 60° (4) 70°
67. If sin2x + cos2x + tan2x + cot2x  +  sec2x

+ cosec2x  =  7,  then  value  of  sin2x  is  -
(1) 1/2 (2) 2/3 (3)  1 (4) 1/4

Paragraph for Question 68 to 70
Let a,  b  Î R and a2 –  b2 = (a – b)(a + b) = 1,

then a  + b =
1

a b-
 or 

1
a b

a b
- =

+
.

On the basis of above information, answer the
following :

68. If x =
1 1 1

.....
2 1 3 2 9 8

+ + +
+ + +

, then

which is not true -
(1) x is a prime number
(2) x is even number
(3) x is an integer
(4) x is an irrational number

69. If secq + tanq = 2, where q is acute angle, then
the value of sin2q is equal to -

(1) 
9
25

(2) 
2
5

(3) 
16
25

(4) 
1
5

70. If a = 5 20+ ,  b  = 2 11 , then value of

( )5 20 2 11 5 20

1
log 5 20 2 11 log 45

2+ - ++ + +

is  equal  to   -
(1) –2 (2) –1 (3)  0 (4)  1

63. ;fn =
a 2
b 3

 rFkk =
b 4
c 5

gks] rks 
+
+

a b
b c

 dk eku gksxk&

(1) 20 : 27 (2) 27 : 20 (3) 13 : 20 (4) 3 : 4
64. nks nksLr ,d dk;Z dks 960 :i;s esa djrs gSA ,d vdsyk

dk;Z dks 12 fnu esa rFkk nwljk 16 fnu esa djrk gSA ;fn fdlh

fo'ks"kK dh lgk;rk ls osa dk;Z dks 4 fnu esa iw.kZ djrs gS]

rks fo'ks"kK dks fdruh jkf'k feyuh pkfg,&

(1) Rs.700 (2) Rs.550 (3) Rs.400 (4) Rs.350

65. nks la[;kvksa dk {ks=Qy x rFkk mudk vUrj muds ;ksx dk
1
7

 gSA nks la[;kvksa e-l-i- gksxk&

(1) 
+x 1
7

(2) 
x
7

(3) 
12x

7
(4) 

6x
7

66. fn;s x, fp= esa AB,

CD ds lekUrj gS rFkk

DEF leckgq f=Hkqt gS]

rks dks.k y dk eki gksxk&

(1) 30° (2) 45°

A

O

B
x

x+20°

y C D
E

F(3) 60° (4) 70°

67. ;fn sin2x + cos2x + tan2x + cot2x + sec2x
+ cosec2 x  = 7 gks] rks sin2x dk eku gksxk&
(1) 1/2 (2) 2/3 (3)  1 (4) 1/4

iz'u 68 ls 70 ds fy, vuqPNsn
ekuk a, b Î R rFkk a2 –  b2 = (a  – b)(a  + b)  = 1,

rks a + b = 
1

a b-
 ;k 

1
a b

a b
- =

+
mijksDr tkudkjh ds vk/kkj ij ] fuEu iz'uks a ds mÙkj
nhft, :

68. ;fn  x =
1 1 1

.....
2 1 3 2 9 8

+ + +
+ + +

, rks

fuEu esa ls dkSulk lR; ugha gS -
(1) x ,d vHkkT; la[;k gS
(2) x ,d le la[;k gS
(3) x ,d iw.kk±d gS
(4) x ,d vifjes; la[;k gS

69. ;fn secq + tanq = 2, tgk¡ q U;wudks.k gS] rks sin2q dk
eku gksxk -

(1) 
9
25

(2) 
2
5

(3) 
16
25

(4) 
1
5

70. ;fn a  = 5 20+ ,  b  = 2 11  gk s ] rk s

( )5 20 2 11 5 20

1
log 5 20 2 11 log 45

2+ - ++ + +

dk eku gksxk -
(1) –2 (2) –1 (3)  0 (4)  1
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ANSWER KEY
Q 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15
A 4 4 2 2 1 4 3 4 2 4 1 4 3 2 2
Q 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30
A 4 1 3 3 2 1 1 4 4 3 4 2 3 3 4
Q 31 32 33 34 35 36 37 38 39 40 41 42 43 44 45
A 2 3 1 1 3 3 2 3 3 2 3 2 2 3 1
Q 46 47 48 49 50 51 52 53 54 55 56 57 58 59 60
A 1 3 2 1 1 3 4 4 3 2 2 4 1 3 2
Q 61 62 63 64 65 66 67 68 69 70
A 1 3 1 3 2 4 1 4 1 3


